it 1

Plpze d 3¢ 2RRFRERE L S
LS A = Baors t _#903
REH A TREITRE FakcA R
& o hEs kPR KEARFR B 5%

;Hg"#f}lg.‘—g;o o o o .j';’ﬁ;‘]}l;-i

o

A2 FHEFRHMF  FHEFFEH > EFIFY

A-2-1 § el B 4 AT ara & 3 B o 51 E
LAapFgiEY e

[T]
N
w
DO
[

A-2-2 FHERKHE F o Bog Y FELm
A RIS B

ol

=]
w
Do
.

A-2-3 g PRY AR RN RS Y 5 3 2 1
P\?o
A-2-4 2 & BEY LS lEF%E]F pPEREEY 5 3 2 1
A €9 -
iii 3 EH K RSO JeF A gy .
o |A-3-1 EH kB S E > SIEE S LY % 5 3 2 1
3 & FE o
B
g (A-3-2 FeiEH O g B Y s dy - 5 4 3 2z 1
FA-3-3 8% o 3F ~ 2T KR AR BRA T 4 3 2 1
7 g8y o
A4 38 S AR N Fd N REEY e BE AT RS o
Adol 387 5 AGER R RS Y s 53 2
A-4-2 AR 2% GEREEI G g Y v 5 3 2 1
»é:'&o

w1

=]
)
N}
e

A-4-3 R E 8% AEKE -

ol
B

[<o]
Do
.

A-4-4 SRR S5 0 RPIF 6 R A AR

B-1 =¥ B BF L nE s AR o

B

yr [B-l-1 2 g mn B 4 B el g 5 3 2 1

o B-1-2 o5 EAw BF L nE L AR 4 3 2 1

=

¥OB2 B EY NS eI

f’i’

o (B2l R ORERRELS > WL LT P 5 4 3 2 1

#— bt1§f4§f” o

% B_2_2 ?-LE/B— m§33%£ ’ Q’L@E’“"iiﬁygﬁg i% 4 3 2 1
Fﬁ,‘? ,4.0

e ?i Beep 105 &4 7 25 pAKEF(Z)F % 1050040254 Lo # 3 5P & 0T FREr L £ R
IR (105 B )2 HEBRR L4 o



1
w
o
=

RERE R GFRP T R R Y TP 2 )
1 - fI* #&5 #itgeogebra» # EF 2 RE L % - % > 4B 4 (FH

I AT o
9. Bk B oL T A AR L ,
ES RS SRS N £ X RN E AR
I

At e Th A1 SR B GE RET B R L0 .
I ® 15 % ¥ (http://reading. ntue. edu. tw)z 4
ntue. edu. tw)z 2015 #a AE > %
BB § Bkl B A - DRI fiE R



b= 2

FibRze ¢ Y SRR § AL aRrER)

Bzp g % 3 & = S S KEE A
109/09/08 - 5= & 903 i34 £ R ITH

W e [t b e £ 4 L ke

| BRRE L P
BRI
IR e s IR ECRR i
1o Jiezdsh £d B2 4003 LR PV BEWRI RENF LT
o mH ] BEF O RDEIE Y B

2+ A grtligeogebra EE A SR I AT .
®5 4
:\.. ld /4}\3-

LA RGRRRERFLE

HRIET G o BB G

FIQE“F%?’(EFF7 r?{?ﬁ"\&m@‘%\J|g ,*&_q._&._ )} }—‘ :\L;—

Bk

E:

s
B

1

%
b4

b




bz 3



